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POLYCET-202

Hall Ticket Signature of
No. The Candidate
Time : 2 Hrs. Full Marks : 120
Note : Before answering the questions, read carefully the instructions given on the
OMR sheet.
(5805 esarenen EPofnesd 50008 OMR esaren SBHns® angds Srrvde erfidn HeHos.
SECTION—I : MATHEMATICS
1. After how many decimal places, the decimal expansion of the rational number
22—><5 will terminate?
23
m 0930 eE8RAD 50&)5 o‘:‘méb nidet:s &')gde'a o)g)ol &SB°0B @@w"o BB 90SHMON?
(1) 1 (2) 2
3) 3 (4) 4
2. The sum of the exponents of the prime factors in the prime factorization of 156 is
156 Bu¥); P57 S0 DS’ HIT 050 DBo
(1) 2 (2) 3
3) 4 4) 6
3. For any natural number n, 9" cannot end with which one of the following digits?
AP Ve Dog)g 1 K, 9" devd e 1808 D ©c3E” eoBo 5?2
(1) 1 (2) 2
(3) 9 (4) None of these
ADD )
4. If the LCM of 12 and 42 is 10m + 4, then the value of m is

12 508050 42 Jog)ge S0, 10m + 4 00D, M 0D
1) = o)
1) 3 2 3
(3) S (4) 8
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1 1 1

+ + i
5. The value of log; 60 log, 60 logs 60 '°
LS SR
log3 60 log, 60 logs 60 035 De3
(1) o (2) 1
8 s (4) 60

6. Which of the following collections is not a set?

&2 1808 T°S° & KATAN0 28 B 5°E0?

(1) The collection of natural numbers between 2 and 20
2 08ain 20 B¢ Ko e J0950 FI0weao

(2) The collection of numbers which satisfy the equation x2-5x+6=0
XP-5Xx+6=0 & D5208erR) HHNI6D S0P FHNTADO

(3) The collection of prime numbers between 1 and 100
1 508050 100 3065 o (570 Sog)ge Hdwwao

(4) The collection of all brilliant students in a class

2.8 BEHBS"D ©0stH BTN DT DHTT0

7. If P={3m:meN} and Q:{3m:meN} are two sets, then

P={3m:meN} 28000 Q ={3™ :m e N} e03ock 9008585
(1) PcQ (2) OcP
3) P=0Q (4) PUQ=N

8. If A and B are disjoint sets and n(A)=4,n(AuB)=7, then the value of n(B) is

A 08030 B @0 o0 ddodoen 08d5w n(A)=4,n(AuB)=7 9008, n(B) He0H
(1) 7 (2) 4
(3) 3 (4) 11

9. If the sum and product of the zeroes of a quadratic polynomial are 3 and -10
respectively, then the polynomial is

a8 ég DTIHE ABE); ér"mege) 0B DoBosw og:ﬁooe)o DB 3 208050 —10 90008, €3 205008
(1) x?-3x-10 (2) x%>+3x-10
(3) x?>+3x+10 (4) x*-3x+10
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10. If x - 2 is a factor of the polynomial x2 —6x? +ax -8, then the value of a is

X5 —6X2 +ax—8 & pTVI68 x — 2 2.8 SSETOERNB, a BE); DEVD
(1) 10 (2) 12
(3) 14 (4) 18

11. If o, B and y are the zeroes of the cubic polynomial 2x3 +x? -13x+6, then the
value of afyy is

2% + X2 ~13x+6 &S 50 2TVSB B, BN o, B, Y 0 @B, ofy B¥), devd
(1) 3 (2) -3
1 13

@ -5 @ -5

12. The number of zeroes of the polynomial shown in the graph is
TRS® BrDGD 2TVIB B, BT S0y
y

A

\/

Y
(1) O (2) 1

(3) 2 (4) None of these
A0 579

13. The pair of linear equations x+2y—-5=0 and 3x+12y-10=0 has

X+2y—-5=0 58a50 3x+12y—10 =0 & BOPoDH doE8ere 2shd

(1) no solution (2) two solutions
5D B BOC SO0 GOLTPON

(3) wunique solution (4) infinitely many solutions
IBE A5 008 @H0B FPEHRD GOLTON
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14. In a competitive examination, 1 mark is awarded for each correct answer while

5 mark is deducted for each wrong answer. If a student answered 120 questions and

got 90 marks, then the number of questions that the student answered correctly is
1
28 953 DBES®, (58 BBER FATETDE 1 5°50), AR, WA (FO By AT GRS 7 380, B,

a8 ;’)w:sg 120 L;’o@eéo IR [P 90 e é&l)ée&)oooé es g)w&g QB DITeeRren
CRSMINEIDRSR

(1) 90 (2) 100
(3) 110 (4) None of these
DD o)

15. Which of the following is not a quadratic equation?

&3 1808 TRS” B HY HEGEN0 5°0?
(1) (x+1P=x3-2 (2)  (x+1)° =3(x-2)

(3) (x+2P+3=x-1 (4)  (e+2)(x=1)=(x+1)(x-3)

16. If one root of the quadratic equation a(b—c)x2 +b(c—a)x+cla-b)=0 is 1, then the

other root is

a(b-c)x® +blc—a)x+cla-b)=0 ed HE LT 1 2.8 e, H08°E 0rresw

b(c-a) ab-c)
(1) a(b-c) (2) cla-b)
a(b-c) cla—Db)
3) bc-a) ) apb-o)

17. If the sum and product of the roots of the quadratic equation kx? +6x+4k =0 are
equal, then the value of k is

kx? +6x+4k =0 B HY IAFTe30 Q08); Trere B0, HTrere eerds DITHB, k ed
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/3-A [4]



18. If the numbers n - 3, 4n — 2 and 5n + 1 are in arithmetic progression, then the
value of n is

n-3,4n— 2 508 5n + 1 Jogsen 0SRES® G083, n Jend
(1) 1 (2) 2
3) 3 4) 4

19. In an arithmetic progression, 25th term is 70 more than the 15th term, then the
common difference is

28 WOSBES’ 25 B $5¢8H00, 15 D 553500 E083 70 5D 9000w, Ry B
(1) 5 (2) 6
3) 7 (4) 8

20. Which term of the geometric progression 2,2:/2,4,..... is 128?

2,242,4,..... % (HeEGS® 128 iy 55507

(1) 11th (2) 12th
(3) 13th (4) 14th
. . 2 2 2 )
21. If the geometric progressions 162, 54, 18, ..... and 8127797 have their nth
term equal, then the value of n is
2 2 2
162, 54, 18, ... 508080 o7 os g e MOEEEIO N DH FTPO0 DDTHID, N Hed
(1) 3 (2) 4
(3) 5 (4) 6

22. The points A(-5,0), B(5,0) and C(0,4) are the vertices of which triangle?

A(-5,0), B(5,0) 38050 C(0,4) ®osoes forenr Ko (@4Hessn DB?

(1) A right-angled triangle (2) An equilateral triangle
2.8 0028 |H8HEHL 2,8 0530252 (9802850

(3) An isosceles triangle (4) A scalene triangle
28 Q0BT (BgHasd0 28 DA D230
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23.

24.

25.

26.

27.

The X-axis divides the line joining the points A(2,-3) and B(5,6) in the ratio of
A(2,-3) 208a5n B(5,6) Docen 509 Bargoaed) X-e50 98580 dyd

(1) 1:2 (2) 2:1
(3) 3:5 (4) 2:3

If four vertices of a parallelogram are (-3,-1),(a,b),(3,3) and (4,3) taken in order,
then the ratio of a and b is

(-3,-1),(a, b),(3,3) 208050 (4,3) e B EX0S" BoLy) a8 SHroB DEOYe30 G0, TPROIDH TS,
a 508050 b © DY

(1) 4:1 2) 1:2
(3) 1:3 4) 3:1

1 1
If the points (a,0),(0,b) and (1,1) are collinear, then E‘*‘—:

b
(@,0),(0,b) 508050 (1,1) &9 DotoPHeo SEHATS, é+% =
(1) -1 (2) 0
(3 1 (4) 2

If the centroid of the triangle formed by the points (3,-5),(-7,4) and (10,-k) is at the
point (k, —1), then the value of k is

(3,-5),(~7,4) 08050 (10,—k) &9 Doto)o8’® A8E |eheso B, KHtbdg Soso, (k, —1) Dok
DY &e00B k de0D

Q ™
(1) 1 (2) 2
3) 3 (4) 4
If AM and PN are the altitudes of two similar triangles AABC and APQR respectively
and (AB)? : (PQ)?> = 4:9, then AM : PN =
AM 508050 PN &0 3ot 8778 |880e385 AABC 08a50 APQR© &)®oen S8 o8dsw
(AB)? : (PQ)? = 4 : 9 eo0®, AM : PN =
(1) 3:2 (2) 16:81
(3) 4:9 4) 2:3

/3-A
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28. In the given AABC, if DE || BC, AE = a units, EC = b units, DE = x units and
BC = y units, then which of the following is true?

QY0 $005°0 AABC &', DE | | BC, AE = a d0~dew), EC = b dumde), DE = x 0505°06 508050
BC = y 06y @008, Se 808 TS 8 S85007?

A
D E
B c
(1) x=—7 2) y=—
a+b a+b
_a+b x _a
6 *="oy O

29. If the lengths of the diagonals of a rhombus are 24 cm and 10 cm, then each side of
the rhombus is

28 oroR (D DB0BYes0) BooY); o DeHeo 24 Ro. . HBakn 10 Do. . e 90008, D (9

£025500 DCED)
(1) 12 cm (2) 14 cm
12 o. do. 14 o. 2.
(3) 15 cm (4) 13 cm
15 o. . 13 o. 2.

30. In the given figure, PA is the tangent drawn from an external point P to the circle with
center O. If the radius of the circle is 3 cm and PA = 4 cm, then the length of PB is

20 508°, PA &8 erirg 20t P 0oé O oo Ko Hed8 Rabedd )5de. 88 oo
3 0. §0. 508050 PA = 4 0. 0. ©@ond PB Bk, D)

A
3 cm 4 cm
(@) B P
(1) 3 cm (2) 4 cm
3 o. d. 4 o. .
(3) Scm (4) 2cm
5 o. . 2 o. .
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31.

32.

33.

In two concentric circles, a chord of length 24 cm of larger circle becomes a tangent
to the smaller circle whose radius is 5 cm. Then the radius of the larger circle is

B0l bééo@ Eﬁg@"’e)ess, 24 0. 0. D) Ko D& Zée)ééoo B, &g, 5 o. . 3)"’5@1365;5&) Ko DY é&@”ﬁ)g
—o Q ) () -0
BB 0B, e BB Bk, TGO

O
5cm
A 24 cm B
(1) 8 cm (2) 10 cm
8 o. . 10 o. .
(3) 12 cm (4) 13 cm
12 o. %o. 13 o. %o.

The area of the circle that can be inscribed in a square of side 10 cm is

10 0. 0. ghHasore Ko HESRHH0S® eﬂoééggﬁoba)&é 2)Bo B, PBPegH0

(1) 40m cm? (2) 30m cm?
40m ¥.20.20. 307 ¥.20.20.

(3) 100m cm? (4) 251 cm?
1007 ¥.%0.20. 251 ¥.20.20.

If the height of a conical tent is 3 m and the radius of its base is 4 m, then the
slant height of the tent is

2.8 B0gLY) &5°8 K80 BE); HB) 3 . H0BAsL TR e W?S@vgéoo 4 3. @008, &3 S0 By,

TR0 DB

(1) 3m (2) 4m
3 . 4 2.

(3) Sm 4) 7m
5 . 7 .

/3-A
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34. If the radius of the base of a right-circular cylinder is halved, keeping the height
same, then the ratio of the volume of the cylinder thus obtained to the volume of
original cylinder is

28 (550 9)B75e8 B GBo%); 800 R 0D, T°D &I° TGRGR0R B8 BRoY éegooo@, e3 Dsome
DED By 20800 @den BESHne HOIBITET DS
(1) 1:4 2) 2:1
3) 1:2 4) 4:1

35. If tan6 = \/5, then the value of sec6 is
tan® = /3 @and, sec 0 EBooE); dewd

(1) (2)

(3) (4)

2
V3
2 3

36. A chord of a circle of radius 6 cm is making an angle 60° at the centre. Then the

length of the chord is
6 0. . TR0 EORD 9)B0S® 2.8 a5 Boo D 60° © §%30 BRYOB. OB 5 ey FD

(1) 3 cm (2) 6 cm
3 o. . 6 o. .
(3) 12 cm (4) 3v3 cm
12 o. do. 343 %o. .

37. The value of tanl0° tan15° tan75° tan80° is
tan10° tan15° tan75° tan80° 3Bo0E); DD

(1) -1 (2) O
(3) 1 (4) None of these
ADD )

38. If tan®+cotd =5, then the value of tan?0 +cot?0 is

tan® + cot® = 5 esond, tan20 + cot2 0 BooE); eV
(1) 1 (2) 7
(3) 23 (4) 25
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39.

40.

41.

42,

c0s 36°cos 54°-sin36°sin54°=

cos 36°cos 54°—-sin36°sin54°=
(1) 1 2) O

1
@ -1 4 5

If two towers of heights h, and h, subtend angles of 60° and 30° respectively at the
mid-point of line segment joining their feet, then the ratio of their heights h, : h2 is

h, %8050 h, d8oe EORS Boch RPDTeen 763 oo $92% Bar oo @Bk, 0855 VoY Mo
Dt &s8sE esen SO 60° 2080k 30° @B T3 dBe dYB h, : h, =

(1) 1:2 2) 2:1

3) 1:3 4) 3:1

The angles of elevation and depression of the top and bottom of a lighthouse from

the top of a 60 m high building are 30° and 60° respectively. Then the difference
between the heights of the lighthouse and building is

2
Q-

30° $:8a5 60° ésgs 508050 D3y §%e BikYe00B, B Fogo BA 590 G0, JBL BesH0

60 0. & Ko 28 PIdo P od 28 8% C‘rgoa’éo BooE); P D BB 9K ey SB[

(1) 20m (2) 80m
20 &v. 80 %v.
(3) 60m (4) 40m
60 %o. 40 .

Which of the following cannot be the probability of an event?

&5 808 TOS® .8 0ead Boog); Sogrdgd OB 8?2
1) 0 2 2
(1) (2) 3

5
@ 7 () 1

/3-A
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43.

44.

45.

46.

If one card is drawn at random from a well-shuffled deck of 52 playing cards, then
the probability of getting a non-face card is

2T E00EN 52 0¥ Sg),e0 Ko 2.8 8y 20o0d OISy RSO 2.8 5P e@?\)éé&)oooé, & 5°8) S0 57
558908 Ko Rogrng®

3 10
1) 13 (2) 13

7 4
(3) 13 (4) 13

A lot consists of 144 ball pens of which 20 are defective and the others are good.
Rafia will buy a pen if it is good but will not buy if it is defective. The shopkeeper
draws one pen at random and gives it to her. The probability that she will buy that
pen is

28 oSS’ 144 ard DYoL o). TBS® 20 S50 N, DRADD 20D, EPAIT® 00D DIYR
DR 5706008, STHHEI0NHAD DY ETHED. LISEmRdE CIE)DEONT 8 DY B e
AR T &) §TR0R"L DALERS Ko Sogrdgd

) = n 20
(1) 36 (2) 36

31 31
B 36 ) T4

A bag contains 3 red balls and 5 black balls. If a ball is drawn at random from the
bag, then the probability of getting a red ball is

28 $00S° 3 Y woBoen BBAN 5 Hen woBey KoY. & 0D Wod ADIEGIET &8 20

BAVIE 98 DY 208 1L Ko HogrHgd
(1) (2)

(3) (4)

©|ul N+~
w|lw ~|w

If the mean of the following frequency distribution is 15, then the value of y is

e (808 D93y DeresoH B, B 15 od, y deosd

x[5]10]15[20]25
fle|8 |6y |5
(1) 8 2) 7
(3) 10 4) 9

/3-A
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47. If the difference between mode and mean of a data is k times the difference

between median and mean, then the value of k is

2.8 (BP0 BB00E); 2TVTEI 08050 e908 :ﬁoégﬁo‘cﬁwo :63&623 23650, T éxé?sﬁééao 208050 e90¥ mcsagéo:me)

Be8 ke Bex 00D, k 0D
(1) 2 (2) 3
(3) 1 (4) Cannot be determined

E208%),8%0

48. The median of the first 10 prime numbers is
2006863 10 (557 Sog)se D0esse dewd
(1) 11 (2) 12
(3) 13 (4) 14

49. For the given data with 50 observations ‘the less than ogive’ and ‘the more than
ogive’ intersect at the point (15-5, 20). The median of the data is

28 &T07°08 38°es HBAL eNG e L8500 50 ©oFeR now. © (155, 20) & ot 9
POGOWIKIOLTHON. ©00LB $T°080 BY); S0¢5B0

(1) 155 (2) 20
(3) 145 (4) 15

50. The modal class for the following frequency distribution is

&4 1808 DPREYg Dge00 Q) ePTOTE BSHSD

x | Less than Less than | Less than | Less than [ Less than | Less than
10 20 30 40 50 60
10 s 8%, 20 smyoxys | 30 smpoxys | 40 sy ess | S0 sayexs | 60 s 8509
f |3 12 27 57 75 80
(1) 30-40 20 - 30
(3) 10-20 50 - 60

/3-A
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SECTION—II : PHYSICS

51. The value of —-10 °C temperature in Kelvin scale is
3950 H°90S° ~10 °C &pis dend
(1) 283K (2) 263K
(3) 273 K (4) OK

52. According to the principle of method of mixtures, if A and B are the net heat lost
and net heat gain respectively, then

0[S0 TS BIBO (55750, A 58050 B 00 S50 BE559e) %0009 o 98050 390 SHeo

(52003 €50 ond
(1) A>B (2) A<B
(3) A=B (4) None of these

A0 379

53. When wet cloths dry, water in it disappears. This is due to

B 280 G WOVBHED, 9080 D ST DB, 52530

(1) freezing (2) condensation
S0DesdH0 088880

(3) melting (4) evaporation
B5DED0 RNARES

54. The relationship between average kinetic energy (E) of water molecules and its
absolute temperature (T) is given by

D D8ITe0DO BT HBestE (E) 508050 o0 380 &i1® (T') © Jogy Sowogso

1 1
E o« — E < —
(1) T (2) N2
(3) E«xT (4) E is independent of T
T E 358566880

SPACE FOR ROUGH WORK /9508 e300
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55.

56.

57.

58.

59.

Pick the false statement on specific heat.

808 T3S° DIPHH0P BYP TEI IB?

(1) Its value is same for all the substances
B2 devd o) Sloys SECRMMAY

(2) Its S.I. unit is J/kg-K
82 S.I. Sdoesso J/kg-K

(3) Its value is high when the rate of rise (or fall) of temperature is low
BD o0 I DB &S DEOINS (B BIE) Bew Qo

(4) Its value for water is 1 cal/g-°C

2e38 o0 Qe0H 1 cal/g-°C

Freezing of water takes place at a temperature and atmospheric pressure of
D FoREHH0 Do &S SoBA TTHSe DETR HEBIT

(1) 100 °C, 1 atm (2) 1°C, 100 atm

(3) 0°C, 100 atm (4) 0°C, 1 atm

Refraction does not take place when the angle between the incident light ray and
normal to the interface is

38 5708 88e708 0B ©02rdE Bodsy 9 §%a0 5 51885950 BN

(1) o° (2) 22-5°

(3) 45° (4) 60°

The refractive index of a medium is 2. The speed of light in that medium is

2.8 Q880 Bo0E); é@eﬁzﬁé Ko8950 2. €3 ASIPHEOS’ SPoBHKKW

(1) 6x10% m/s (2) 10®°m/s

(3) 5x10% m/s (4) 1-5x10% m/s

Which among the following are used in transport communication signals through
light pipes?

BHTTY 08T (980 BAHTERE T°eh ST0SReren

(1) Plane mirrors (2) Concave lenses
QDO B58ye5°e0 DTS Eeaseen

(3) Prisms (4) Optical fibers
BERSEN &8s pabdey

/3-A
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60. Which among the following statements on mirage is false?
DOEHTHOL 00PN (808 TRS® By TEFW
(1) It is an optical illusion
8 CSQ)E (85530
(2) It is the real image of the sky

78 85730 ABWE); &3 (DD0VH0
(3) It appears on the distant road

B Er8Y 5% E1D08
(4) It appears during hot summer day

B3 00K V0N

61. If v, and v, are the speeds of light in the two media of refractive indices n, and n,

respectively, then

n, 08ako n, 518859 18250 denHen EORD Bok) AIrHSTeS® SPodd e HEHM v, B0 v, 9000

vl_nl vl_nQ
1) 5 " @) o Ty
2 2 2 1
v _ M b N2
) L, "\n 4 . "\n
2 2 2 1

62. Which of the following rays undergoes deviation by a lens?
1808 T7BS° Ko Do VD0 ot SPod E8eren
(1) Ray passing along the principal axis
D50 Ko ) 8o
(2) Ray passing through the optic centre
&8 Boo rowe 8 Sderen
(3) Ray passing parallel to the principal axis

PERRE dATroBSoT DY) SSeTeen
(4) None of the above

A0 579
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63. Pick the correct answer from the following two statements :
1808 Bockd TEGHNO 00 BBAH IHTGH0 J0DE BWE0G
(@) Virtual image can be seen with the eyes.
DG (B0 Eoe38 E25:008.
(b) Virtual image can be captured on the screen.

T (IDD0LRY BED DO

(1) Only (a)is true (2) Only (b) is true
(a) S0 Deso (b) S°BR0 De8H0

(3) Both (a) and (b) are true (4) Both (a) and (b) are false
(@) 508050 (b) Bokre desd (@) 28050 (b) Bosre HIPS

64. The lens bounded by two spherical surfaces curved inwards is

B0t DI Aes°8 &:38Berot) SHTPHE HoR &) Ser¥o

(1) biconvex (2) biconcave
850858 B)erses

(3) plano-convex (4) plano-concave
DB KH087°5°8 DBO J)eIrseY

65. If the object and image distances due to a convex lens are x each, then its focal
length is

2.8 50857578 £e050 ABE); HA) 8w (B0 SeTren zu§°b§be3 X 90008 mwéoééo
(1) 2x (2) x/2
(3) 2x/3 (4) 4x
66. Irrespective of the position of the object on the principal axis, a concave lens
always forms an image of nature

(DGE0 D 5‘@0@ a@v:soﬁs 0200850 BEIOT®, 2.8 HeTrseE eso Qgg@)dﬁ? bq)ém ESLELVIIARSINALVIVON

(1) real, invert (2) real, erect
ez, Boooenne Q3 DYDY

(3) wvirtual, erect (4) Does not form any image
20T, DV 98D0810 ELBDED
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67. Usually Doctors, after testing for defects of vision, prescribe the corrective lens
indicating their

RGBT G583, B R SBG0DD HETH, LS00 e 503577 (808 T3 ErH0S” R AR

(1) radius of curvature (2) refractive index
DS TN 518859 Koeaso

(3) mass (4) power
(8550°3 0850

68. Farsightedness is called
&I°8) IO Jgdor DIeEROR, SR8 SudHery I8 JDIESEDED) cse)g’.bxﬁsaéw

(1) hypermetropia (2) myopia
aqg S ENN Y

(3) presbyopia (4) cataract
S lNel ERepS

69. Relationship among the speed of light wave (v), wavelength (A) and frequency (f) is
given by

208 BBoK Do (V) BSoK fo.;géo (A) SoBas» o850 (f) © Dogsy dowodso
(1) f=vA (2) v=ra

B8) A=fv 4) r=fv

70. Which of the following statements on red colour light is true?
1808 773S° IKHBK 520D H020HoD JeBD TGO
(1) It has low refractive index and suffers high deviation
8 ee) :5@255;6 K050 EOR, 9% V00 DooEos
(2) It has low refractive index and suffers low deviation
08 00y 85 Heago ¥R, wey DN DoEHB0E

(3) It has high refractive index and suffers high deviation

&8 98 :5@25:6:6 K0e350 EOR, 9BE D050 DoLEOS
(4) It has high refractive index and suffers low deviation

08 e8E H8DD Heago EOR, Moy DBV 0B
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71. Blue colour of the sky is due to the scattering of light by the molecules of
5708 (808 HEHTENNOE” HBEIE0 DOGEO HOD &850 VOO EIEBI0S

(1) H, (2) H,O
(3) CO, (4) N,and O,
N, %8050 O,

72. If i, and i, are the angle of incidence and angle of emergence due to a prism
respectively, then at the angle of minimum deviation

2.5 380 B, 58 §%30 0800 W0 §eTen HHI i 2B 7, & o Y DVOD §%0 H¢

BB

(1) =14, (2) >4,

(3) ¢ < i2 (4) None of these
ADD 5°D)

73. The minimum focal length of the eye-lens of a healthy human being is

856K§ S0BGD HIPIYD B, Foed-5eos SIUSEORAL(CLIINY

(1) 25 cm (2) 2:5cm
25 o. . 2:5 o. .

(3) 227 cm (4) 1lcm
2:27 o. . 1 o. .

74. Volt per ampere is called
S°G / 302008 B8 Sdrwo

(1) watt (2) ohm
e 8.0

(3) coulomb (4) joule
Ereood &S

75. The device which maintains a constant potential difference between its ends is called

HD BoL DHBew 985 @ne?;gosoé BEe0 EeORDo% oo

(1) Dbattery (2) multimeter
2508 20920608

(3) ammeter (4) electric bulb
2606 DS wew)
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76. Two resistors of 04 Q and 0:6 Q are connected in parallel combination. Their
equivalent resistance is

04 Q $08050 06 Q Jenden Ko Botd I8 PO HAT°0HE0 Ho*H0 Daded. $O8 96%50 e
(1) 1Q (2) 05Q
(3) 024 Q (4) 01Q

77. The junction law proposed by Kirchhoff is based on
80,9 (PAFBODD H0H DAN0 B BPVHEBS

(1) conservation of mass (2) conservation of momentum
(B550°3 DBBS e B0 Ld:béfm DB QB30

(3) conservation of energy (4) conservation of charge
38 DBgB Dot o DT DBBS Bor o

78. The materials which have large number of free electrons and offer low resistance
are called

¥ éogpéeS’s ?oogag OO SR &0d 90050 SR ok SErgren

(1) semiconductors (2) conductors
eagmt’m?oo EUSISEN)

(3) insulators (4) None of these
20855000 ADD 5°9)

79. A fuse is made up of

DB HAsB8 Tk S
(1) thin wire of high melting point

Sy &0&, 9B¥ 59835 %0:60 EOR &odicio

(2) thin wire of low melting point

DY &0k, ) B3I %@éo EOR &odicio
(3) thick wire of high melting point

JooGore 6ok, Q8 1$DEHD %v?éo EOR &0csen0
(4) thick wire of low melting point

SooKore &od, o) SIS %v;éo EOR &odico
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80. If the specific resistance of a wire of length 2 m and area of cross-section 1 mm? is

1078 Q-m, then calculate the resistance.

2 m 2res) 08050 1 mm” $o¢555)e Prrego SORS 2.8 &K 933 98%50 107° Q-m eand e &K 26°50

el
(1) 1072Q 2) 2Q
(3) 2x107°Q (4) 2x1072Q

81. An evidence for the motion of charge in the atmosphere is provided by

TTHEE0S” eI HOTRY) BOAHBA &TETSEd

(1) rainbow (2) mirage
QOGO DOEEDICO0

(3) thunder (4) lightening
68000 WY

82. The electric energy (in kWh) consumed in operating a bulb of 60 W for 10 hours a
day is

60 W o850 o wey) 2.8 8”10 Howeo PGB DABIHo g538 (kWh of® )
(1) 06 (2) 6
(3) 36 (4) 12

83. The scientific demonstration of H.C. Oersted is related to the study of

H.C. es0008 R& wrnahon Seddad (36@rKo

(1) electric discharge through air
N 3)650?35 &&Bo

(2) relationship between voltage and current
S'Be98, DesogS (S8 Bogg Bowocso

(3) magnetic effect of current
DS (S0 HY 0,08 (9gTD0

(4) refraction of light

P08 91845990
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84. Pick the correct answer from the following two statements :

85.

86.

1808 Both TEFHNO0E HBAPR ISTTRHO JodE DOHoS :

(@) Within a bar magnet, magnetic field lines travel from south pole to north pole.
$S0GaH?) 080 S, £90503r),0% 200V K885 @ydo H00é &BBE)H0 PHB [Hosreedaron.
(b) Outside bar magnet, magnetic field lines travel from north pole to south pole.
50G°05HR°); 08B0 VIO, 90 2000 &8Y $ydo 20od dé\e’acﬁe):so YY) (Hosreedaron.
(1) Both (a) and (b) are true
(@) 208050 (b) Bokr® Ded
(2) Both (a) and (b) are false
(@) 508050 (b)Bor B3PS
(3) Only (a) is true
(@) ST°BI DD
(4) Only (b) is true

(b) 5585 Desdo

Weber is the S.I. unit of

D20 @008 B8 S.I. [P0

(1) magnetic pole strength (2) magnetic moment
eaoi)@vboé qﬁq)é:()éogéoo eaoi)@vboé (87°080

(3) magnetic flux (4) magnetic flux density
9A0V?),;08 9PI°I°0 9A0V7;08 9PT°IT° 0[S

The magnetic force acting on a straight wire of length [ carrying a current I which
is placed perpendicular to the uniform magnetic field B is

[ 2res) B0BA50 T 055 (W0 SOR i) 2.8 SR JEBY e9d$HI),08 B0 B K> 000N &0DNHE), €
SR 3 DA 9w 08 o

(1) 1IIB (2) I/BI

(3) B/II (4) I°Bl

/3-A
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87. Mechanical energy is converted into electrical energy in

ASTO|BE $8D DEgS BEM® HIEY) AGHHN

(1) motors (2) electric geysers
doed D5 RSB

(3) generators (4) televisions
2350608 B99z:S

88. The device which contains slip rings to reverse the direction of current through
coil is called

HI0QS® DEgH (T B8 HIBBE BB HI°8)50S” &DBIHHE YD BorHORO EOR &0k SHHN

(1) resistor (2) Dbattery
D8°50 egeaB

(3) electric motor (4) solenoid
DB DIerd dron&

89. An increase in magnetic flux through a coil of 500 turns in 0-1 s is 0-:001 Wb. The
maximum induced EMF generated in the coil is

500 %06 SORD 2.8 @Kiﬁoéégé‘s 0'1s & 8BRY dHA,08 wPaTro NG 0:001 Wh. eoid®
DGHED HBY (288 dEgHTOE 2B

(1) S0V (2) 10V
(3) 05V (4) SV

90. If € and At are the induced EMF and time respectively, then the change in magnetic
flux is given by

£ 08050 At &0 SEIT (D8 ado?sega‘be)g 200 805 5700 WoVBD 9CA0O);08 ©9PT°I0 DI°EY)

n 2) eat
G) (4)  Jeat
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91.

92.

93.

94,

95.

SECTION—III : CHEMISTRY

CHSCOOH solution turns red litmus into
CHSCOOH (PHEI0E 3& e%)&f) 5@3):6?{))633

(1) blue (2) Remains red
DOB0MHE HoeBH JEIYHBOKITD &GoEORL

(3) colourless (4) None of these
égdirééomm D 379

Identify the hardest substance in the body.
#B80S° e300 KBRIH ergo B

(1) Calcium sulphate (2) Calcium chloride
QA0 SBed 52dao §0&
o o\ [l
(3) Calcium phosphate (4) Magnesium sulphate
52900 Fraed oRaDHo Byed

2HCl + Zn ———

(1) ZnCl, (2) ZnCl, + Cl,
(3) H, (4) ZnCl, + H,
Methyl orange shows colour in acidic solution.

52 ([TPHER00E) DPS e380F EAIIHE O B0l BIHOBIR

(1) yellow (2) red
I Nleti)!

(3) green (4) blue
55039 deo

Which of the following is not correct?

1808 °0S° Dzs0 528

(1) 2p° (2) 3s!
(3) 4f (4) 2d°

/3-A
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96. Quantum numbers of a subshell are n = 2 and [ = 1. Identify the subshell.
n=2 8050 [ = 1 55080 J0500 [0 &S50 I
(1) 2s (2) 1s
(3) 2p (4) 2d

97. [ values of subshells d, s, f, p are respectively
d, s, f, p &358)0°0 [ de0Hen HSOJ

(1) 1,2,0,3 (2) 3,2,1,0
3 0,1,2,3 (4) 2,0,3,1

98. In visible light, red colour possesses
&y855°0RS"D JEOYB0H
(1) high wavelength and high frequency
¥ BEoK @qgééw 0800 ¥ iﬁ?és?fg):ézso EOR &0t
(2) high wavelength and low frequency
Q8 HSoN Qggcﬁoo D0Bow B @0?63@:650 AR &0
(3) low wavelength
B0 BTN fo.;gééoo AR &0
(4) All of the above
DO SH)

99. Identify the degenerated orbitals.
808 TRS® 5088 Mo ebyerd)d HBood
(1) 2px 2py 2pz (2) 2s, 3s, 4s
(3) 3p, Spy 3pZ (4) Both (1) and (3)
(1) So8asn (3) Bocsse

100. Elements having 5, 6, 7 valency electrons are
5,6,7 éoa)éeS’s J0d) OO o DTesTe
(1) P, S, Cl (2) P, Cl, Na
(3) P,Cl S (4) P, S, Na

SPACE FOR ROUGH WORK /08308 36550

/3-A [24]



101. Electronic configurations of Mg+2 ion and Cl ion are
Mg"? a0 $:800 Cl~ @die Jogs drmgosnes

(1) 2,8and?2, 8,8 (2) 2,8,2and?2,8,8
2, 8 %08aiw 2, 8, 8 2,8, 2 %08a» 2, 8, 8

(3) 2,8,8and?2,8 (4) 2,8,2and?2,8,7
2, 8, 8 $08a» 2, 8 2,8, 2 %08a» 2, 8, 7

102. Coordination number of Na® in NaCl crystal is
NaCl 5)e3506° Na" GBoog), $5:50350% Soas

(1) 1 (2) 6
(3) 2 (4) 8
103. Bonds present in Nitrogen molecule are
DSBS WEVHSD WS _ &)d.
(1) 3o (2) loand 2rn
1o 0803w 27
(3) 3m (4) 2mand 20
21 080 20
104. 132, 232, 2p6, 332, 3p6 configuration is related to
152, 2s%, 2p°, 352, 3p° dOES DTG % 3oBI8.
(1) p3 (2) CI’
(3) s (4) All of these
a0
105. The number of electrons gained by non-metal element is equal to its
28 ST BoTreEan 08D Q@Ls;éoo nvaogp?s oD 8 35000%0.
(1) wvalency (2) group number
38)&){\) ™) éo&)zg
(3) bond length (4) All of these
2083 Qgém ea?()&oin
106. Corrosion of copper produces
oR EO0H00 FoBIPE _ ByeoR.
(1) copper oxide (2) copper carbonate
556 e53 6 538 5°55y%e5
(3) copper sulphate (4) pure copper
5295 38ye5 R5ND o°R
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107. 22-carat Gold contains
22 B85y womsan _ HoBao %0 8OR éocorn.
(1) 22 parts of Gold + 2 parts of Nickel
22 g7 oSN + 2 grreen 93¢
(2) 22 parts of Gold + 2 parts of Copper
22 gPree 22080 + 2 grerren o°R
(3) 22 parts of Gold + 22 parts of Silver
22 23 0omE0 + 22 gereen dod

(4) 22 parts of Gold + 2 parts of Chromium
22 gre 20mS + 2 e (50000

108. Formula of Rust is

BO) A8, FeERe”
(1) Fe,O; x H,O (2) Fe,0, x H,O
(3) Fe(OH), (4) Fe(OH),
109. Chemical used to remove impurities from ore is called

TN BT SOR0HIL 6 SRy 906378,
(1) gangue (2) mineral

™on DL
(3) flux (4) slag

1$555°8 S*R000

110. By moving top to bottom in group, valency will
TPHS® R D008 (808 Hy S8, Tl

(1) increase (2) decrease
DEHHB0E BHBY

(3) No change (4) increase and decrease
DIPEE0 DEHN B BKH0

111. Atomic number of the element of VA group, coming after nitrogen is
VA £ 3085 J|e5°aS 0758, & (IS 93y 0ol 565570 D09
(1) 7 (2) 15
(3) 14 (4) 17
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112. Identify the element that belongs to 2nd group and 3rd period.

B (P S08050 3 D DBAHE £ DoBD H0°eE0 I8
(1) Na (2) Al
(3) Mg (4) Cl

113. Identify the correct statement.

28 €900 RE530065 ([IeH) X0 0BG

(1) All s block elements are metals

S &P5 resel) St
(2) All p block elements are metals
P 2 Soresceld) Saten
(3) All s block elements are non-metals

S 2P5 DICOSOR) 9S50

(4) All p block elements are non-metals

P e Doresceld) e Sten

114. VIA group elements are called

VIA /07 00°05°00 _ 90838.

(1) chalcogens (2) oxygen family
TS B9) e58)230 0000

(3) halogens (4) Both (1) and (2)
S ey (1) So8o%w (2) Bocsse

115. Identify the structure of propyne.
808 TRS” [P Y DTYEIO B
(1) HC =CH (2) H,C—C==CH

(3) H,C=CH— CH, (4) H,C=CH,
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116.

117.

118.

119.

120.

R

C = O functional group indicates
R/
R
C = O 53005 55007570 DS 0
R/
(1) aldehyde (2) ester
esdrs A8
G o (5]
(3) alcohol (4) ketone
&30S 8e5°S
Ethyl alcohol upon oxidation produces
23S @30, esdyisero Dobd 20 BB,
(1) ester (2) aldehyde
NS sdirs
(3) ether (4) alkane
S8 eﬁébs
Ethene and ethyne differ in

Be8S 208050 2D 0D @ozeen

(1) number of carbons (2) number of bonds
5°8)00 Doy 200 5oy

(3) number of hydrogens (4) Both (2) and (3)
& S Soy (2) So8asn (3) Bockre

Which of the following are called paraffins?
1Bo8 T°0S° De3D FTDY) @0eTEd?

(1) Alkanes (2) Alkenes
es&) oeo e39); 080
(3) Alkynes (4) Alkyls
e383); 00 8),00e0

Cough Syrup contains
&%) erREOS D B Ve[

(1) ethanol (2) ethanoic acid
3ES'S S s eso

(3) ethanal (4) ethyl acetate
ag>S 39S DVES

/3-A
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